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1) Thaovam- 61 in P(\Jo N0 L bo
2) Thaovem - 62 in Poge No: l6y
3) Exowmple-2 page No 166
q) Exonise —6:2 —% S,6, 8,10 PYOB\QMS In Pada LD
5) Theoxem — 68 In page NSO 11RO
¢) Examples-s3y in Page Ne: 82
4) ExomP\o_-'4 N Fadc. No‘ 18y
9 Example —& in pase No 186

0,) Exoncise —6'3—3 4,312 |5, \b  in page NOx % )92,19Y
2 Marks:

DE\LQMP\c-«% n PQ&Q, No: 166

2) Exercise —6-2 — 1,2,3,4,%,¢ Probleme page No's & 168,170
3) Example —6 in Poge No:igy

L)) Exotdse —6:3 —r 1,2 problems in page: Not 199

&? Exondse —6:3 — 2,9 \5 Ffob\ams n page Noa = 192,19y

9 Jn S;aum, pellBe, pa=3tm, RC=qem and
AC= q-scm-F(nd the \O-\ra'\'\ﬂ o} AQ ? 45000

9 I D and E ovle the POM\S on the sides P q
AR and Ac oj»AABc_ and AR =)2cm, RAD=8cm,

A

AE = 12tn, AC= \8Cw Hhen prove that DE) BC
3) Ja Yhe —S—\aw\t DE)\BC: T} AD=x%, D8=x-2,
AE=%+12 and Ec=x-l J—ind Yhe value of x.
q) Qive  examples for 1) Simmilon S—V uney 7,

ﬁ) now ~ Similan :-,(1‘8un¢4 .
X
iﬂ) Conafuen* ‘\'S‘\dwlu "N) non — coqﬂma,r&b

B
M=-2
Sigune
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2 Wark:

l> Wale the ?Yo?QthS 0:} 8wl on ,f\a\mu?

"’—> StoYement - 2: Al Sivwn\on -\vian lea ane (m@vuerﬁ
Statemaent — 2 ¢ Al Yi(jM andleci(‘ s0sceles r'.omé]\es ane similan

3>> Assavtion: I} W o AARC, AB=3(m, BC=4tm and Ac=scm then

LB =90
Reason: 3} i o BABC, ARY+ 8= A Ythen 4B =90

‘+> S’cc}@a&—l: Al squones ane covﬁruen\- to ecach othex
Syatement —2: A\ civcles ane  Similan

S> Statement -A: Two line &8mm'fs ane a\uuaaé Sienilan
StoYement —8: T} AABC~ BPQR Yhan AB:pg = Ac:QR

9 Name Ywo :Sq‘éjunes that ane odwaaA Stmilan

‘-9 AABRL N ALNN ond LA=80, LA4IN= — —

8) Two -\;ﬁan&\w with ecvml Corméj:onciiva Sdaes a\wa.aa Simil an
QI

"D Which o}  the ':gv\\oun s true?

AY Al q,qvu.i.\ai:oxa\ 3cr’\cx\'aj\e.s axe stwilan B) A\ circles ane Similan
SA\\ squones ane Similan D> AL of e above

\9 Which 05» the -fo\\omiv&j 6 not a Sxmi\cmi\a cxiYevion :;'or
Yrian \es- [ ]
A) A B) SAS c) AAA D) RHS

\> Match the 30“"“)"“8: A

P) AD D hE

= EC
D =

q) AD W) Ac
o8 “AE

<) AB )y Ak B3 ” <
“AD Ec

Ia Sratemant —1: Al Covafuan'\ {v\'oma\% ane  &iwmilan
StaYement —2: All o,cl}dla‘cend ’Mcxzj\e.s ane  Similan
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\3) Stakemaent A : An two  circles one Similan

Stakoment B: Any two eo‘,ul(ohana\ dvf&vg\eé cte Sirmlan.

m) In the wan J(“aume APQR ~ ASUT- 0 GRRNTYL ¢

F(nd the ~yalue oj» -
\S) Statement A Al chul\ahm\ ‘lviouzj‘% ane

Simailon
Shatement B Al isoseles Yriomgles ane Similan
\9 Statemant A Al congruant :?\QMQS oz Similan but al) Similon

-}r ures veed ot ke T congruant -

S g5 L @ 4y R

Statement B: A\ Squonts  an not  Similan

)JQ Shodemant A: Twe driangles one similon i thaiv corro.syon&?h(c] Qy\d\%
ane equal  and c‘_orms?onolind sides ane W the same vadio.
Sta¥ewment @: Any two vectamgles ane similan

l%> Statement At Tn anac, if DE||Rc and _(’l;_f;_ :%_ e am
then AE =2.em

Staterent 8: Tha diggoval of o quadwilofeal ABCD TnYemeck

eacdh othen ok 0 Sudh  that RACEEG

Sk ‘Hmm ARLD s xcrcq:e.z’um

\q> StarementAt A twme  dvown theouah The wuid Po§n\: 0} ovig  &ide

o} o %r‘.w\a\e, i Pomod\a\ another side and  bigects the
Hed  side-

Stokement B: A line do'm’wa the mid Poin’ﬁs o} ow&j Ywo sida
o a 'MQ@\Q i paalle Tt e thid side.

zo) Statement At Al tiomgles ane S lon
Statemant B: Al rac\:&vges ane Coyarqqn}




